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Abstract : This paper proposes an integral teaching method for the realization of Society 5.0. The concept of

"Integral = Inverse of Differential”, which is constructed by conventional teaching methods, is a disadvantage

in learning the knowledge and skills needed to realize Society5.0. The introduction of ”integration” by the

compartmentalized quadrature by parts proposed in this paper builds the concept of ”integration = calculation

to find the area” and helps students in their subsequent studies. This paper proposes an instructional method

for introducing ”integration” using the categorical quadrature by parts. I will also explain how to teach the

relationship between integration and differentiation.
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